(RIEREERZHFLDH (B 1B~ EIREQ)]

e GHEREE | BAY-CRAE | Y—EXBH BEE e B =t
K5 1E18IB(10) | ASIME(D) (18) (18) (18)

A m | B 1B 320 300 1,121
z % 2 B B 479 29 420 600 1,521
7 | x FOBEOQD 820 1,000 2321
T £ ZE3BEQ 820 1,300 2,621
=l ®| T 1 B & 0 300 801
w %2 B 479 29 370 600 1,471
V1| T 238D 370 1,000 1,871
%e £ ZE3BEQQ 370 1,300 2,171
* m | BB 320 300 1,238
z £ 2 B B 596 29 420 600 1,638
= 5| = E3BEEOD 820 1,000 2,438
£ Z3BEQ 820 1,300 2,738
S EIEN Eﬁ E:a 0 300 918
E 2 B R 370 600 1,588
2 ’f E3BRED 096 22 370 1,000 1,988
£ ZE3BEEQO 370 1,300 2288
F PEEEREE 320 300 1,287
z E 2 B B 645 29 420 600 1,687
Al = E3ERD 820 1,000 2,487
/ % 3R EQ 820 1,300 2,787
% | & | 51 BB 0 300 967
e E 2 B R 370 600 1,637
# 1 rf E3ERD 645 22 370 1,000 2,037
& £ E3BEEQ 370 1,300 2337
7 N 320 300 1,357
z £ 2 B B 715 29 420 600 1,757
— 1l 4l = E3ERD 820 1,000 2,557
2 £ ZE3BREO 820 1,300 2.857
SIEIEE T 1B R 0 300 1,037
E 2 B R 370 600 1,707
2 rf E3EROD 715 22 370 1,000 2,107
—~ Z2 [ZE3BEEQ 370 1,300 2.407
= N 320 300 1,429
1| & ¥ 2 B & 787 29 420 600 1,829
Bllal = E3IBED 820 1,000 2,629
e EI3BEQ 820 1,300 2.929
% | & | 51 BE 0 300 1,109
E 2 B K 370 600 1,779
’ 3 rf EIBRED 1817 22 370 1,000 2,179
o £ E3BREQO 370 1,300 2,479
?35 s | B B 1 B B:E.: 320 300 1,498
E 2 B R 420 600 1,898
@ 4| = E3BE @ 856 22 820 1,000 2,698
||’ = ZE3BREQ 820 1,300 2.998
Bz 2 [ 21 BE 0 300 1,178
%t E 2 B 370 600 1,848
z (| 4 rf E3IBRED 856 22 370 1,000 2,248
= £ B3BREQ 370 1,300 2,548
= | | BB 320 300 1,568
L E 22 B B 996 29 420 600 1,968
4| = E3IBRED 820 1,000 2,768
2 £ Z3BEO 820 1,300 3,068
2| & | 51 BE 0 300 1,248
E 2 B 370 600 1,918
5 rf E3IBRED 926 22 370 1,000 2318
£ [ E3BEEQ 370 1,300 2618

JoENE (FaE) 184 MmE *EPORSH/H  AEFAEUEZE- AL {F)200M/B

o[ X ESKWEANELEA)10~501/8

OAERFHOBEIEBPDEKRIZHYET, Z1E390H BB 680M 48 590M R6/62R1E

XA ER S FNBRNEME(])=LBI214%
MLUTOEBICRUTIAF. EETIEELYFET
ORAEPAFTZAME=900E{/H @BDIETH LEEIRBRAXISINE=2008141/H
@ E FMHERMEFNHAEZAME=1208:1/H8
X ERHEIERTIDOT, HABHREICLI - TEENELITEAHYFET, FMIEEBLAEDLE TS



[REREHAEZHSFLTENG (F4EEE) ]

g| RERESE [ EXY—_CIR | Y—ERRH Bl B & it
X5 1E|&E(1H) {RFIME(T) (18) (18) (18)
H z | @ | 2 & 48 479 22 1,171 1,660 3,332
7 REEEE: 958 44 1,171 1,660 3,833
7+ S EE R 1,437 66 1,171 1,660 4,334
||®|s| @AM 479 22 855 1,660 3,016
IMIPEEIEEER: 958 44 855 1,660 3,517
%e E|szz a8 1,437 66 855 1,660 4018
K|l z|® 18 & 18 596 22 1,171 1,660 3,449
N REEEE: 1,192 44 1,171 1,660 4,067
= sz a4 1,788 66 1,171 1,660 4,685
|z |13 88 596 22 855 1,660 3,133
K |22 848 1,192 44 855 1,660 3,751
F E|szz a8 1,788 66 855 1,660 4,369
K 2 & 48 645 22 1,171 1,660 3,498
F REEEE: 1,290 44 1,171 1,660 4,165
T =32 6148 1,935 66 1,171 1,660 4,832
(% |5 |18 & A 645 22 855 1,660 3,182
NEAEEEE: 1,290 44 855 1,660 3,849
& E|szz a8 1,935 66 855 1,660 4516
K 2 & 48 715 22 1,171 1,660 3,568
REEEE: 1,430 44 1,171 1,660 4,305
||| E|3m am 2,145 66 1,171 1,660 5,042
e ||| 2|1 B BB 715 22 855 1,660 3,252
=L , | K |28 & 1,430 44 855 1,660 3,989
E|szz a8 2,145 66 855 1,660 4726
2l =@ 2 & 48 787 22 1,171 1,660 3,640
T REEEE: 1,574 44 1,171 1,660 4,449
B T E |32z 8148 2,361 66 1,171 1,660 5,258
B (| |2 |13 &8 787 22 855 1,660 3,324
w1 | K|[28 4 8 1,574 44 855 1,660 4133
3 E |3z g8 2,361 66 855 1,660 4,942
I EEEY: 856 22 1,171 1,660 3,709
= REEEE: 1,712 44 1,171 1,660 4,587
T E |32z 8148 2,568 66 1,171 1,660 5,465
z |z |18 6848 856 22 855 1,660 3,393
NEIELEE: 1,712 44 855 1,660 4,271
E|3% a4\ 2,568 66 855 1,660 5,149
NFEEEE 926 22 1,171 1,660 3,779
REE RS 1,852 44 1,171 1,660 4727
T E|szaam 2,778 66 1,171 1,660 5,675
z |z |18 6848 926 22 855 1,660 3,463
s | Fl2®am 1,852 44 855 1,660 4,411
E|3% a i\ 2,778 66 855 1,660 5,359
JoEMNE (&) 184 mE *HPORK80H/B  *4FHIE(EZE-FL1F)200M/H
Zoft *k EXKIEAELER)10~50M/8B
OAERFBDBEIIEBSDERICAEYET, Z1E390 BRE 680 4B 590F R6/62X1E

KN EBELBREME(=HEMH X 14%
KUTDHEBICEZETEIAR. EETHIELLELGYFET
ORSEMARZAME=00E:/A @RFETE - LEEKRRIISIMNE=20084/8
O = FIRAENAEZAME=1208 11/
XERMEIFIERTIOT, AIABHRFICIOTEENELDIIENHYET  FIFEHLEDHLE TS,



